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6 UL DI AT : 100 + 30 + 8 = 138
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gEnfal & fory faeer —

Instructions for the candidates :-

1. wRienfi OMR SR U3 UR (0T U YRABT HHID (10 3l BI) ALY
fored |
Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. oRIefT JATEa 37U Tl H & IR S |
Candidates are required to give answers in their own words as far
as practicable.

5. i @ik SRR W RY gy it quie Fiffe oxd §
Figures in the right hand margin indicate full marks.

4. gedl I SMYdd UG & oy qRienfal &I 15 e &1 ifaRed a9

feam T 2



15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U3 GRHT a1 Wusl H 8, WUs—3 Ud EUs—4 |

This question Booklet is divided into two sections: Section-A and
Section-B.

Gus—3 H 100 TS U 8, FH 9 fb=gl 50 YAl BT SR <Al
g g1 U W SIfE Ul & SR oF W UM 50 ITRI BT Bl
ARH- fHar S| 96 ueF & forw 1 i fgiRa 21 98 SR

Iuee IR T OMR SR 99& # &3 T &1 g &I el /Bl afed

U ¥ W fE W PR & @R /IR U /&€ /ARG 3Mfe Bl

STR—YRTDT H YANT HRAT F1 &, AT el afRomd 3= 8 |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answer will be
evaluated in case more than 50 questions are answered. Each
Question carries 1 mark. Darken the circle with blue/black ball pen
against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/liquid/blade/nail etc. on OMR-Sheet,

otherwise the result will be invalid.

Yue—q ¥ 30 TSI U T | IS U B forg 2 3w FeiRa g,

RTH I fh=sl 15 99T &I SR AT Afar 2 | 59 IifaR«d, 59 wvs
H 5 dF ST g ¥ 2 e U & forv 5 3fe fREiRa g,

o8 9 f5=gl 4 U9l &1 IR 1 2|



In Section-B, there are 30 Short answer type questions. Each
questions carries 2 marks, out of which any 15 questions are to be
answered. Apart from this, there are 8 Long Answer type
questions, each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl UPR & Selaciivd SUBRY B SKIHATS Yol il = |

Use of any electronic appliances is strictly prohibited.

Section- A
Tus—3 (axqfrs y¥)
9T GRIT 1 W 100 db & YA Y & 91 IR fddpey U v 8, 9w 9

U el o | {8l 50 WAl & IR S| MU RT I Y 50 UTAl & el Aoy Bl
OMR—2flc &R fIfed & | Ux® & forg 1 s MR 2| 50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. Answer any 50 questions. You have to mark your selected option on

the OMR-Sheet. Each question carries 1 (one) mark. 50 x 1 =50

1 3T UG = @rd H forar S 7 -
(A) I TTe Ul a4
(B) 91 SuR UIftqdlt ud 9T
(C) Y g wIftrdt gd SR I
(D) 77 & @IS el

Income and Expenditure Account records :-

(A) All cash receipts and payments
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(B) All credit receipts and payments

(C) All cash and credit receipts and payments

(D) None of these

faftre g9 & —
(A) ST gt (B) 3maTa wrft
(C) w=fRy (D) 57 & BIS &l

Specific donation is -

(A) Capital Receipt (B) Revenue Receipt
(C) Asset (D) None of these
IMI—gY WA H olF—a a9l B & for ford o & —
(A) Baet IoiivTa Tepfa (B) el AT bl
(C) Avd B <1 (D) 3 | 31 T2

Income and Expenditure Account records transactions of -

(A) Capital nature only (B) Revenue nature only
(C) A and B both (D) None of these

I Ud YIae W@l § —

(A) SfdarTa @rar (B) arfde @l

(C) =94 =TT (D) 378 | BIg T2



Receipts and payments Account is a -

(A) Personal Account (B) Real Account

(C) Nominal Account (D) None of these

|fera BT AFQT BT YA & —
(A) goirTa @ (B) 3MRTd =
(C) ama (D) &1 | P &

Payment of honorarium to secretary is treated as -
(A) Capital expenditure (B) Revenue expenditure

(C) An Income (D) None of these

ST T HHM ATl R BT T I BIAT & —

(A) o™ HHTT (B) FHIST &1 HaT HRAl

(C) am—=T = @raT IR &)1 (D) SWRIaGd a4

The main objective of non-profit organisation is -
(A) To earn profit
(B) To serve the society

(C) To prepare profit and loss A/C
(D) All the above

IS ®IY @ TOFET B AR & —

(A) IMa—y (B) wHfe—<ariea



10.

(C) Tofr + =i (D) 3774 & PIE el

Capital fund is calculated as -
(A) Income - Expenditure (B) Assets - Liabilities

(C) Capital + Liabilities (D) None of these

OTftd Ud YA Gl ARG ST § —
(A) 3Tfdreg / =reT (B) I®Hs oY
(C) gt Iy (D) & @ /=1

Receipts and Payments Account usually indicates -
(A) Surplus/deficit (B) Cash balance

(C) Capital fund (D) Net profit/loss

= | B we wifld vd YA W SR ?

(A) e da+d (B) &1

(C) STToiig HegdT Yoo (D) Surfsia gt

Which one of the following items, is shown in the Receipts and

payments account ?

(A) Outstanding Salary (B) Depreciation

(C) Life Membership Fees (D) Accrued Subscription
1 # | B g A8 B ?

(A) =T (B) T



1.

12.

(C) feae & R (D) woerre A
Which of the following is not an Income ?
(A) Subscription (B) Donation

(C) Sale of Ticket (D) Endowment Fund

EISRCICURIEIRCIRISINN
(A) T YoiTa Wil U 9T bt
(B) T 3MRATA U W& Y=l bl

(C) FAKT AT Td YSIRTd Wi Qd il &
(D) SWRIad # | PIg T

Receipt and payment Account is a summary of -
(A) All capital receipts and payments

(B) All revenue receipts and payments

(C) All revenue and capital receipts and payments

(D) None of the above
AR Hell & 3G H ARIGR UM & 8haR T8l & —

(A) TS &R =TT g BT (B) o= = @1

(C) P gt (D) 51 & P



13.

14.

15.

In the absence of partnership deed, a partner is not entitled to

receive -
(A) Interest on capital (B) Salary
(C) Commission (D) None of these

g8 O B9 gEien $ faedr 78 g ?

(A) i (B) ami—Rrrom
(C) Hfra—arfia (D) <7 a1 37 ¥ e e

Which one of the following is not the feature of partnership ?

(A) Agreement (B) Sharing of Profit

(C) Limited Liability (D) Two or more than two persons

% & forg, To ™ &1 § —

(A) ToT wnft (B) qsi e
(C) sma (D) &1

For the firm, interest on capital is -

(A) Capital Receipt (B) Capital payment

(C) Income (D) Loss

AER & Yol Wi & YRS Y Bl hiSc HAT Siram g —
(A) G5l R =1 (B) 38T IR =TSl

(C) 3frexm (D) =1fy # R



16.

17.

18.

The opening balance of partners capital account is credited with :-
(A) Interest on capital (B) Interest on drawing

(C) Drawings (D) Share in Loss

AERERN FHId @ 9d § IRl & Yol R et e SR —

(A) 8% daTfie® (B) 6% drfie

(C) 9% @it (D) ST ¥ ®Is 8l

In the absence of partnership deed, Interest on capital will be

given to the partners at -

(A) 8% P.A. (B) 6% P.A.

(C) 9% P.A. (D) None of these
el Wl & —

(A) frTa e (B) araifies e
(C) 9= @t (D) 4 ¥ &g el

Current Account is -

(A) Personal Account (B) Real Account

(C) Nominal Account (D) None of these

ARl @ Yoll R &9 § —
(A) = (B) fafrars
(C) e (D) & | P &



19.

20.

Interest on partners capital is -

(A) Expenditure (B) Appropriation
(C) Gain (D) None of these
ATSIERT BT BH A Heel Il & —

(A) T BT (B) vsive @1

(C) Tl Td qotve &1 (D) yaere b1

The relation of partners with the firm is that of -

(A) An owner (B) An agent

(C) An owner and an agent (D) Manager

ATSIERI T SRIT BIAT & —

(A) ¥

(B) 3t

(C) \rerery srfafraw g1 fReiRa
(D) &7 & g T

Liabilities of partners is -

(A) Limited

(B) Unlimited

(C) Determined by partnership Act

(D) None of these
10



21.

22.

23.

24,

ABERI I 4T & —

(A) sHfrard (B) ¥fewr

(C) 3ferer: arfard (D) 7% & ®Ig Tl
Preparation of partnership agreement is -

(A) Compulsory (B) Voluntary

(C) Partly Compulsory (D) None of these

A e Tl BT ST & —

(A) Sfae < (B) $f¥e 9w

(C) sfae wd #f¥e o (D) 3% & BIg el
General Reserve Account always shows -

(A) Debit balance (B) Credit balance

(C) Debit & credit balance (D) None of these

TG @ # Bfse vl & Sfde vt W i & wed € —

(A) o9 (B) B1f%

(C) urftg (D) =3

Excess of credit side over the debit side in Revaluation Account is-

(A) Profit (B) Loss

(C) Receipt (D) Expense

IAA AIRERI & ATI—{I9TST S urd # gRad= | 2T 8 —
A. ®H BT YT eATH (B) ®¥ @1 gifos

11



(C) B4 1 waI= (D) 574 ¥ &g el
Change is profit sharing ratio of existing partners result in -

(A) Revaluation of firm (B) Reconstitution of firm

(C) Dissolution of firm (D) None of these

AEERN BH & A6 WR 3ffeiRad IR Pl oRdl B U= BRI —

(A) ITHM ATRIGRI &I &

(B) 9<iHT ATSIGRI Bl BT

(C) I<H ATSIGRI &I 1 A4 7 I
(D) 37 & ®IS 7l
On reconstitution of partnership firm, recording of an unrecorded

liability will result in -

(A) Gain to the existing partners

(B) Loss to the existing partners

(C) Neither gain nor loss to the existing partners

(D) None of these

iy & —

A. T ERT (B) e ey

(C) =, Wt (D) 574 ¥ @ig el
Goodwill is -

(A) Tangible asset (B) Intangible asset

12



27.

28.

29.

(C) Current asset (D) None of these

AT T R G o9 BT MR dhaardal & —
(A) srferer (B) ¥ <
(C) =T oo (D) AT T

The excess of average profit over the normal profit is called -

(A) Super profit (B) Fixed profit
(C) Abnormal profit (D) Normal profit
TP UR @™ AT BT BT 981 B & —

(A) G ATEER (B) T WTRER

(C) =1 dIEIeR (D) EEERARIIEEAR

Profit or Loss on Revaluation is born by -

(A) OlId partners (B) New partners

(C) All partners (D) Only two partners

T FEER §RI @A B AR Tha oM W R AEERI §RT AC

ST & —
(A) QT rguTe § (B) Qo 3rgurd H
(C) 7 3urd H (D) SRTeR 3uTd H

Share of goodwill brought by new partner in cash is shared by old

partners in -

(A) Sacrificing Ratio (B) Old Ratio
13



30.

31.

32.

(C) New Ratio (D) Equally

Afrd o 3R Heg BT SXdidNvT fhar SR —

(A) el T (B) T @t
(C) b w@rer (D) 3% & BIg el

The accumulated profit and reserve are transferred to :-
(A) Realisation Account (B) Capital Account

(C) Bank Account (D) None of these

AEIER & D Y89 HR1 W &M I Q4 A fdss gon @
HIET BT o Fahell & ?

(A) JFTHIY T HIH ATl AEIGR &

(B) AY ATSIERI B

(C) |1 HTSIGRI I

(D) ST &1 P18 Tl

On retirement of partner, full amount of goodwill can be credited in

which capital acoount ?
(A) Retiring partner (B) Remaining partnerrs

(C) All partners (D) None of these

AHRI Hod @ MR B |1 Aieieri & 9 Yoll @ H§ gxaRd fbar

ST & —

(A) T S IrgUTa H (B) Uit & orgura #
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33.

34.

35.

(C) RM a—eT= o qurd § (D) 399 | BIg 78l

The amount of General reserve is transferred to all partners capital

accounts in -

(A) New profit sharing Ratio  (B) Capital Ratio

(C) Old profit sharing Ratio (D) None of these

ISR B G Sl Uiforil T @ g —
(A) ATeET (B) aafarra
(C) 1R (D) =iy

JLP of the partners is an account :-
(A) Nominal (B) Personal

(C) Liability (D) Asset

ATSIER & J&] U= 3ff~d HFTae 8iam & —

(A) G @mar | (B) frwares @mar |

(C) = @ & (D) s & @I Tl

On the death of a partner, Final payments are made through -

(A) Capital A/C (B) Executor’s A/C

(C) Current A/C (D) None of these

A% AEGER B 7F AR HRT S & S —
(A) o @1 (B) I

15



36.

37.

38.

(C) uctr @1 (D) STRIRSRY B

The amount due to the deceased partner is paid to his -

(A) Father (B) Friend

(C) Wife (D) Executors
PRIl T & —

(A) fderTa @ral (B) ATHATH Tl
(C) ar<dfad &al (D) 374 A PIg Bl

Realisation Account is -

(A) Personal A/C (B) Nominal A/C

(C) Real A/IC (D) None of these
ARIERT §RT BH &1 Ufeod U= fhar ST JadT & —
(A) 98T & IMER W (B) 3/, =i & ok wR

(C) I,aewl & Aok w (D) 31H ¥ BIg =l

A firm can be voluntarily dissolved by the partners :-
(A) On maijority basis (B) on 3/4 members decision
(C)On 1/2 members decision (D) None of these

g Pls AeER fHdl 918 IR & YA Bl S oIl 8 dl @rdn
shise far SR ?
(A) Tl @ (B) s Tt

16



39.

40.

41.

(C) 9rEReR &l Yoh (D) ST & ®I3 2l
When a partner takes responsibility to make payment of any

outside Liability of the firm, the account credited will be ?
(A) Realisation A/C (B) Cash A/IC

(C) Partners Capital A/C (D) None of these

BH b FHUT R B9 dTdl IY Bl Phed & —

(A) Tell = (B) &rgh =3
(C) AT = (D) 57 | 31 7l

Expenses on dissolution of firm is called :-
(A) Realisation expenses (B) Legal expenses

(C) Revenue expenses (D) None of these

B9 & f9Tcd IR, WEIER & K0T WA Bl SIdRd fhar Sdr g —
GVESSIRCINR (B) WRIERT & Hof @
(C) Sda @ (D) 59 & BI$ 7N

On dissolution of a firm, patners Loan A/C is transferred to :-
(A) Realisation A/C (B) Partners Capital A/C

(C) Suspense A/C (D) None of these

BH & fdEed & T FREN @ RO Jed a9l WU & [Bd uE
¥ forem ST & ?

17



42.

43.

(A) Sfdc ue (B) fec ue
(C)F ARTB (D) 3T ¥ B =l
At the time of dissolution of firm, book value of Assets is recorded

in which side of the Realisation A/C ?
(A) Debit side (B) Credit side

(C) Neither A nor B (D) None of these

BH @ [deed & AR ARl & Yoll WA & Hiec Y &1 I fHar

ST & —
(A) ETIERT T (B) =i &1
(C) e & (D) 5% | ®IS &

Payment of credit balance of partners capital Accounts at the time

of dissolution of a firm is made to :-
(A) Partners (B) Wife
(C) Friend (D) None of these

B9 & f9ged w IifeRad gwufd & hy 9 urg ¥y &7 dfse fHar
ST & —

(A) ISR & Yol @ 4 (B) j1ps @rar |

(C) agelt e # (D) YA @rar
On dissolution of a firm, amount realised from an unrecorded asset

is credited to :-

18



44.

45.

46.

(A) Partners capital A/C (B) Cash A/IC
(C) Realisation A/C (D) Revaluation A/C

FHOH SR BT 9l @ & e vt # forar Smar g 2
(A) <1faca (B) Sgwufy
(C) sfae (D) Bfde

Realisation expenses are recorded in which side of Realisation

Account ?
(A) Liabilities (B) Asset
(C) Debit (D) Credit

FOOAT W I AN & —
(A) @i &1 fafrare= (B) i & favg Tdh TR

(C) RifeT wvs # gxiaxo (D) SWRITT # A PIg 8l

Interest payable on debentrures is :-
(A) An appropriation of profits

(B) A charge against profit

(C) Transfer to sinking fund

(D) None of above

FOA & i 9 U iy g —
(A) qSTrTe yTfea (B) smarrd yrfeait

19



47.

48.

49.

(C) YSiiTa vd 3mTd wiferli (D) 3719 | dIg gl

Amount received from the issue of debentures is :-
(A) Capital Receipts

(B) Revenue Receipts

(C) Capital & Revenue Receipts

(D) None of these

Forgal & T IR Bk 8 —
(A) I FHfT (B) =re] TR
(C) arcifde wwfT (D) &M |y

Discount on issue of debentures is :-

(A) Fixed Asset (B) Current Asset

(C) Real Asset (D) Fictitious Asset

OGS BT fdATe= 81 fhar S Fevel —

(A) e o (B) 9eel ™

(C) w1 (D) $¥ & B &
Debentures can not be redeemed at :-

(A) Premium (B) Discount

(C) Par (D) None of these

HHAT S YA IR KOS B AT DI ATG DI ST B -

20



50.

51.

(A) Te¥T Tged (B) waa> dT8
(C) el ot ¥ wEet (D) 5T & BIg TN

On liquidation of a company, principal amount of debenture is

returned :-
(A) First of all (B) Last of all
(C) Before equity capital (D) None of these

ROA! & [FRET WR &A1 S arelr 9eer e Ui &l Bldr & ?
(A) ST BT (B) Hsirrar =1f
(C) 2Ifd 3T <y (D) 31 ¥ B =l

Discount on issue of debentures is of which nature ?
(A) Revenue Loss

(B) Capital Loss

(C) Deferred Revenue Expenditure

(D) None of these

TH B B YE eSS |, oAl &I 6 Wfive @ ord faaman

ST ' 7
(A) SrgRfera =eor (B) SrEfprei| ko
(C) e, 1R (P REERCESIENL

In the Balance-Sheet of a company, debentures are shown under

which head ?
21



52.

53.

54.

(A) Unsecured Loan (B) Long term Loan

(C) Current Liability (D) Reserve & Surplus

ROYH Sl fb A1 GU& PR o W SRR 8 S &, b Sid 8 2

(A) IS Foru= (B) w2rH FUUH
(C) a8 FoTa= (D) 579 9| 3Ig &I

Debentures which are transferred by mere delivery are called ?
(A) Registered debentures  (B) First debentures

(C) Bearer debenture (D) None of these

i fasbdell &I w0 500,000 H Yg TR & U & dael W0
4,50,000 @ ZForgd AT f&d Sa € O 99 w0 50,000 fhd @

e fhd SRAT ?

(A) er—gT= fdaRo (B) TTfer @rar

(C) 9= Fog WTdl (D) Yt Hera et
If debentures of Rs. 4,50,000 are issued to the sellers for the
consideration of net assets of Rs. 5,00,000 balance Rs. 50,000 will

be credited to which account ?
(A) Profit & Loss statement  (B) Goodwill account

(C) General Reserve A/C (D) Capital Reserve A/C

9% 9 for’l T kU & foRd FUUET BT Here uieMfd & w9 H A
fd S W b @rd @I sfae fhar s ?

22



55.

56.

(A) 9 T (B) ¥ o1 T

(C) RorErdr () ERULERSERIRCIR]
In case of issue of debentures as a collacteral security for loan

taken from the bank, which account will be debited ?
(A) Bank Account (B) Bank Loan A/C
(C) Debenture A/C (D) Debenture Suspense Account

3T ROl B, IG B W Y AM DI SRIART [BIT ST & —
(A) A—gT= fdaror 4 (B) am—zT fafare fdexor
(C) =T e Gl (D) gSil H=g Gt

Profit on cancellation of own debentures is transferred to :-
(A) Profit & Loss statement

(B) Profit & Loss appropriation statement

(C) General Reserve A/C

(D) Capital Reserve Account

SN FTRIM 2014 & AR, WEE & Ud e RU—03A & 3ifdhd qed
BT HY A HH fbdd UfIId T KoU= IMYF BT 90T HRAT BT 2

(A) 50 % (B) 25 %

(C) 70 % (D) 100 %

23



57.

58.

According to Company Rules 2014, a company will have to create
Debenture Redemption Reserve atleast how much percentage of

the face value of redeemable debentures ?

(A) 50 % (B) 25 %

(C) 70 % (D) 100 %

RafeT woe a9 W™ & & wfee far Siar g —

(A) m¥—zrf faaxor # (B) Rifdp T wue @rar

(C) I\=g |9y @rdr | (D) fafdp T wos fAaer @rar #
Interest on Sinking Fund Investment is Credited to :-

(A) Profit and Loss statement (B) Sinking Fund A/C

(C) General Reserve A/C (D) Sinking Fund Investment A/C

ol IOIR ¥ HI 5 T O wE B Al qR g 81 fHar S 7
SR ER-

(A) =reg, et (B) =T =T

(C) faferam (D) &

If debenture purchased in open market are not immediately

cancelled, they are ?
(A) Current Assets (B) Current Liabilities

(C) Investment (D) Profits

24



59.

60.

61.

STd @l RO BT e BR R ST ®, <l g WEE DIy il
S Y P B fhdT ST 8 ?

(A) T w= & (B) \r=T Ha

(C) dr—a1f i fdarer § (D) 399 9 @IS 81

When all debentures are redeemed, the balance in the Debenture

Redemption Fund A/C is transferred to ?
(A) Capital Reserve

(B) General Reserve

(C) Profits & loss appropriation Statement
(D) None of these

U9 & e WX NEYE @ -

(A) fdaTa @rar (B) arfde @ral
(C) =4 Frat (D) =il @

Premium on Redemption of Debenture A/C is -
(A) Personal account (B) Real account

(C) Nominal account (D) Suspense account

IR & SN & AR UR, 599 9 $iF A< faveiv & yoR g ?
(A) T=<IR% faweryor (B) 189 fawetyor
(C) 3T=<iReb 3icheror (D)Awd B gl

25



62.

63.

Which of the following is a type of financial analysis on the basis of

material used ?
(A) Internal Analysis (B) External Analysis
(C) Internal Audit (D) A and B both

T # 9 -1 B 98 & ?
(A) gfdenRd 3 = el 3H
(B) ufcienRd 3 = ol 3H — I

(C) gfcrenRa 3 = Hebed oA

(D) SWRIFd § ®Ig &l

Which of the following statement is correct ?

(A) Retained Earning = Total Income

(B) Retained Earning = Total Revenue - Expenses
(C) Retained Earning = Gross Profit

(D) None of the above

STe g g7 Iffds Ixeredl & foxiy faaxen &1 faveiyor feam s o g9

HgT oAl & ?
(A) 3TR® HH fageryor (B) 31X xeT fagersor
(C) =NY fawergor (D) 378 | BIg T2

When financial statements of two or more organisations are

analysed, it is called ?
26



64.

65.

66.

(A) Inter-firm Analyis (B) Intra-firm analysis

(C) Vertical Analysis (D) None of these
1 # 9 =1 faxig faRor @ dwr 8 2

(A) fe@radio= (B) HeTh1 T IATER
(C) g @1 B4l (D) SWRIad AT
Which of the following is limitation of financial Analysis ?

(A) Window-dressing (B) Basis of valuation

(C) Lack of Accurancy (D) All the above

afeha & SR R 19 # 9 3 O fagevyor & yaR g ?

(A) &fasT fageryor (B) ¥ fareetwoy

(C) srguret faweror (D) A vd B <t

On the basis of process, which of the following is the type of

financial Analysis ?
(A) Horizontal Analysis (B) Vertical Analysis
(C) Ratio Analysis (D) A and B both

Harerd! & RUIE HFl @ fdd 91 3§ U @l oIl & 2
(A) FTTDT BT T (B) a1fer wATerRoT |1

(C) y&eTdhi BT | (D) SWRIad |4

In which Meeting of company, directors report is presented ?

27



67.

68.

69.

(A) Directors meeting (B) Annual General meeting

(C) Managers meeting (D) All the above

o # 9 -1 B 98 & ?
(A) TRl = T + SFereTRal &1 By
(B) Hfedl = et dIY

(C) IHfort = sl fdadl & oIy
(D) SWRIgd # A I3 el

Which of the following statement is correct ?
(A) Assets = Liability + Shareholders Fund
(B) Assets = Total Fund

(C) Assets = funds of outsiders

(D) None of the above

™ g BT W fqaRer @1 Al ®ed § —

(A) 3 ferear (B) 3 favor

(C) uRaTer o™ (D) faferamr

Statement of profit & loss A/C also called :-

(A) Balance-Sheet (B) Income Statement

(C) Operating profit (D) Investment
Frcer Sem ol fa<iia Reafd wweedl Yaemd uvgd oxar § —

(A) &1 T8 fRIY 99T WR (B) faRiy 3m@fy & SRM
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70.

71.

72.

(C) foury srafy & ford (D) SWRITT # A PIg 8l

Balance sheet provides information about financial position of the

enterprise :-
(A) At a point of time (B) Over a period of time
(C) For a period of time (D) None the above

Th IS Sed & faxia fexor # wffafera 8 € —
(A) freer (B) emM—g1fs faaRor
(C) Ipe yarg fqavor (D) SWRIad |4

The financial statement of a business enterprise include :-
(A) Balance Sheet (B) Profit and Loss statement
(C) Cash Flow Statement (D) All of the above

Ugfcr JIgUTa SR Ugfa gfererd AT &y I & —
(A) wrdfire fagersor (B) wiftre frgero
(C) &ifcrst fazeiwo (D) e fageryor

Trend ratios and trend percentage are used in :-
(A) Dynamic Analysis (B) Static Analysis
(C) Horizontal Analysis (D) Vertical Anlaysis

firg fyaxont & gorr @ ford Suavr & —
(A) TR i forear (B) gerrcHe IRI—fdaror
(C) wwu faaror (D) Sufact el
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73.

74.

75.

Tools for comparison of financial statement are :-

(A) Comparative Balance Sheet

(B) Comparative Income Statement

(C) Common-size-statement

(D) All of the above

ygfer ufcrerd &1 o & ford fhell Y ad &1 g 57 Aehem B 2

(A) =Te] a9 (B) T a9

(C) 3R a9 (D) 3T & ®Is &l

For calculating trend percentage, any year can be selected as ?
(A) Current year (B) Previous year

(C) Base year (D) None of these

TEh SR gRT faxfir faaron &7 fageiyor Semevor @ —

(A) 189 fageiyor (B) IR fawersoy

(C) erad fageryo (D) &forot fageryo

The analysis of Financial Statement by a shareholders is an

example of :-
(A) External Analysis (B) Internal Analysis
(C) Vertical Analysis (D) Horizontal Analysis

fe<ig f4zeryor & ford SUBRT AHRI: Ygad © —
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76.

77.

78.

(A) JerrcHe fdavor (B) MY 3R fdavo]

(C) oI@ic 3uTd (D) Sudad |+l

The most commonly used tools for financial analysis are :-
(A) Comparative statement  (B) Common-size statement
(C) Accounting Ratios (D) All of the above

Taeg AR &7 f=feRad @ 98 3 9§ SIET 91T § —
(A) Trfcreiet fageryor (B) &iferst fagersor
(C) orvaed fagersor (D) T8 fageryo

Common-size statement are also known as :-
(A) Dynamic Analysis (B) Horizontal Analysis

(C) Vertical Analysis (D) External Analysis

AT DY hT 'ﬂ‘ldlﬂ HIAT SIIdl %\' —
(A) e g (B) stucuet <y
(C) HaTa = (D) SH ¥ Bl 2l

Payment of Income-tax is considered as :-
(A) Direct expenses (B) Indirect expenses
(C) Operating expenses (D) None of these

amest aRet U § —

(A)2:1 (B)1:1
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79.

80.

81.

(C)5 : 1 (D)4 : 1
The ideal liquid ratio is :-

(A)2:1 (B)1:1
(C)5: 1 (D)4 : 1

S @I U 2 : 5 3R dTe] IMREl BT AR WO 25000 © Al =T
|l @ Ay @ geft ?

(A) 62,500 (B) 12,500

(C) 10,000 (D) 37 ¥ B =l

When current ratio is 2 : 5 and the amount of current liability is Rs.
25,000, what is the amount of current assets ?

(A) 62,500 (B) 12,500
(C) 10,000 (D) None of these

o)l FEfRy # wnfe T ® -
(A) B (B) e
(C) urw faa1 (D) s

The term Quick-Assets do not include :-

(A) Stock (B) Debtors
(C)B/R (D) Cash

TRl 3TUTd & —

A) WA FHfREt (B) BN

EISEHIEE e FfAf
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82.

83.

84.

o

ElS RNl - :
(C) e (D) T4 & ®Ig Tl

Liquid ratio is :-

Liquid A§s§t§ (B) Cu_rre.nt Liability
Current Liability Liquid Assets
Susisss () Nonooithese

ATe], 3T # WA § —

(A) i (B) &R

(C) JPe (D) S |+l
Current Ratio includes :-

(A) Stock (B) Debtors

(C) Cash (D) All of the above

BH & fdged R d§6 FfRAAPY BT saiaRd H —
(A) VHe @R (B) Y& @
(C) a¥gett @rd (D) Gof @t

On dissolution of a firm, Bank overdraft is transferred to :-
(A) Cash A/C (B) Bank A/C

(C) Realisation A/C (D) Capital A/C

JYR AR G NI & &b § IUARMT & —

(A) 3T A 3fafe (B) =re], 3 urd
(C) 3Ia U 3rafdy (D) 378 | BIg T2
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85.

86.

87.

The useful in evaluating credit and collection policy are :-

(A) Average Payment Period (B) Current Ratio

(C) Average Collection Period (D) None of these

FEOT—THAT U & —

(A) TR U (B) febamefietar argura

(C) eNere & JIguTd (D) | 3T
Debt-equity ratio is :-

(A) Liquidity Ratio (B) Activity Ratio
(C) Solvency Ratio (D) Operating Ratio
=1 % 9 —|T IR—FAe &g © ?

(A) fepzra (B) faepT =g

(C) TR (D) =i fgy R &

Which of the following is non-operating expenses ?

(A) Rent (B) Selling expense

(C) Wages (D) Loss on sale of machine

Hhel ¥ AU Fhel o™ & A1 [hdHl urd & ?
(A) g TTog fashi (B) g§ SUR faspi
(C) arf= vefa (D) g€ ®al famr

The gross profit ratio is ratio of gross profit and which ratio ?
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88.

89.

90.

(A) Net Cash Sales (B) Net Credit Sale

(C) Closing Stock (D) Net-Total Sales

ATHSTY DT 3TJUld BT AT Fad fHaT ST © —

(A) ATEIROT 3T (B) oM
(C) uferera (D) Sudad |+l

Profitability Ratio are generally expressed in :-
(A) Simple Ratio (B) Times

(C) Percentage (D) All the above
STH | ST fohar fo<i fhar & s el 8 2

(A) F¥ar 3fet & et | wnftaat
(GC)BUEREED
(C) ¥% # Ade

(D) wa &1 B

Which of the following activity comes under Financial Activities ?

(A) Receipts from issue of equity shares
(B) Cash Sales

(C) Cash at bank

(D) Purchase of Building

/1 % 9 &9 & IRIds 95 © 7
(A) zr9 (B) T1fTT T 3MYerad
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91.

92.

93.

(C) A o B gFi (D) 3TH & BIg =l

Which one of the following is a non cash item ?
(A) Depreciation (B) Writing-off Goodwill

(C) A and B both (D) None of these

Rbs Jarg fAavor gfRdg 8 —
(A) To TH-3 (B) To vH—6

(C) vo TH—9 (D) To TH—12
Cash flow statement is related to :-
(A)A.S.-3 (B) A.S.-6
(C)A.S.-9 (D) A.S.-12

Fare fopamell | Aps—ydre § HHI AT —
(A) are w=afer 7 gig (B) =re <1fdcl # H#
(C) Tl % PIg A8 (D) A @I B gFI

Cash flow from operating activities will decrease due to :-
(A) Increase in current Asset

(B) Decrease in current Liability

(C) Neither of the two

(D) Both Aand B

=1 H | BI—AT 98 e Jed Bl JET ST § 2
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94.

95.

(A) 9% srfarfaamy (B) @miRe o=
(C) oot faer (D) fafrimT

Which of the following item is not considered as cash equivalent ?

(A) Bankoverdraft (B) Commercial paper
(C) Treasury Bill (D) Investment

b fashl & -

(A) aR=Ter febar (B) fafaror foba

(C) f=fra fpam (D) 3% & BIg el

Cash sales is :-
(A) Operating activity (B) Investing activity
(C) Financing activity (D) None of these

wive U 7Y & B B Ui #§ e BT AT @ -

<

(A) s & I<TaiE (B) e &1 afedie

(C) 71 i 3R 4 dfgaig (D) 79 A IS T8I

Issue of shares in consideration of purchase of plant and

machinery result into :-

(A) Inflow of cash

(B) Outflow of cash

(C) Neither inflow nor outflow of cash
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96.

97.

98.

(D) None of these

T fohametl W b Yde S dRd a9 b ger™y SR ?

(A) oERT ¥ gig (B) TeRI # gfg
(C) &Tart & @it (D) gdea =t § F+

While calculating cash flow from operating activities, which will be

deducted ?
(A) Increase in creditors (B) Increase in debtors
(C) Decrease in debtors (D) Decrease in prepaid expense

Hared fhaRl | JAes yaE §d eRd 9Rg T H | B ST
STRATT—

(A) w4 gfg (B) oFeRI # gfg
(C) <a fqu=l # &+ (D) 31 ¥ B =l
While calculating cash flow from operating activities, which of the

following will be added ?
(A) Increase in Stock (B) Increase in creditors

(C) Decrease in B/P (D) None of these

ARIER & Yo @ & Hise fHar Smar 8 —

(A) TS R =1 | (B) 3MMERTT R AT
(C) fmeRoT | (D) =f # far 9

The partners capital Account is credited with -
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99.

100.

(A) Interest on capital (B) Interest on drawings

(C) Drawings (D) Share in Loss

T ARER §RT 9dhe H Rl T8 T HeARN § —
(A) sy (B) o
(C) Wiferzm (D) 374 ®Ig &I

Share of goodwill brought in cash by the new partner is called :-

(A) Asset (B) Profit
(C) Premium (D) None of these
SRl § Bl B —

(A) =i (B) =if

(C)=a (D) &

Decrease in the Liabilities is :-

(A) Liabilities (B) Loss

(C) Expense (D) Profit
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Tus—9 / Section-B

o AT 939 / Short Answer Type Questions

U AT 1 W 30 0P oY SR © | 9 ¥ el 15 Ul & IR < | ISP YA
& farg 2 ofa FuiRa ¥ (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1. MY UG Y @Il T & ?

What is Income and Expenditure Account ?

2. It Qd AT GTaT e A—aT Wl H Dls &l <R 9arsy |

State any two differences between Receipt & Payment Account
and Income & Expenditure A/C.

3, HEAT BT § ?

What is Company?
4. QTSGR BT T 3T & 2

What is meant by partnership?

5. gl @IT T GAHedIdh ST H <R gar |
Distinguish between Realisation A/C and Revaluation A/C.
6. U FIeIaR] BH & GAed I T 3R ©§ 7

What is meant by reconstitution of partnership firm ?

7. =i o7 &1 fRear) 9dqr |
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10.

11.

12.

13.

14,

15.

16.

17.

18.

State two features of Goodwill.
T U RIT & 2
What is sacrificing ratio ?

foxig faaron @ IR I & 9™ 9979 |

State the four name of the elements of Financial Statement.

3rferem @ 7 ?

What is Super profit ?

AR Hold ¥ F7 IRE 8 ?

What is meant by partnership deed ?

IR Yol gd gRad-eiel Ioil # o 9amr |

Distinguish between Fixed capital and Fluctuating capital.
RIbs FAGd ¥ a7 3 7 ?

What is meant by cash equivalents ?

RIde Jarg fdaRo) GIR &R BT I£eg T & 7

What is the objective of preparing cash flow statement ?
HATe @h | T M &2

What is meant by operating cycle ?

<Te] TUTT TAT R U H IR DHIFTY |

Distinguish between current ratio and quick ratio.

JerTs facia fdavor fod @ & 2

What is meant by comparative Financial Statements.

focig faaRoT & Sevg w1 8 ?
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

What are the purpuses of financial statements ?

OO & A= UeRI & 9 a1 |

State the name of various types of debentures.

foroll et &1 ®Ig a1 faRivard 9ary |

Give two features of a private company.

AISIERT & FHU Td BH & FAYT H T =R gaTd |

State two differences between dissolution of partnership and

dissolution of firm.

I T FOOH H IR Id |

Distinguish between shares and debentures.

ST 3R S § T 3R © P

What is the difference between Liabilities and Provisions?

JerTcHe faxii fIaRor dIR &R & Plg T I aard |

State any two objectives of preparing comparative financial
statement.

T qafreR 3 FT 7 ?

What is cumulative preference shares ?

TIC AHAT 3fe BT T 3ef 7 ?

What is meant by sweat equity shares ?

foxi faaron & faveryor & 7 H=mRi & gdrd |

State two Limitations of analysis of financial statements.

IR SROTUa & T AT © 7
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29.

30.

What is meant by Convertible Debentures?

HIHCd JUT &7 BIcT & 7

What is meant by proprietary Ratio ?

P varg fqaxer wf IR fhar Srar g ?

Why cash flow statement is prepared ?

4" Sa9F 939 (Long Answer Type Questions)

U9 GRYT 31 O 38 db ol" SN 2 | 398 A fhal 4 Ul & SR S | UAD U

& g 5 o FEiRa §) (4x5=20)

Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

34.

UGl BT T § ? $HD! 0T fhd UBR &I SR § 2

What is capital Fund ? How is it calculated ?

TAM—8T ErdT der dArd—21= fRIs @ # 8=k SIfvTy |
Differentiate between profit and loss account and profit and loss

appropriation account.

0 & JIeR & dag H IGied dME (Y0 THO—26) BT olRAidh
JIER A |
State accounting treatment of A.S.-26 regarding treatment of

Goodwill.
Hddh AR P < AR BT UM Y HY PRI ?

How will you compute the amount payable to a Deceased partner?
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35.

36.

37.

M TS HHAET o HFT TS -1 H Udh JIdl W0 4,00,000 § WIS |

w0 1,75,000 9 QUC & gRT b T AR AV & ol M Toe HHl

9 w0 10 drel FHAT 37 AT A | S & gl H Iugad oiFaHl
BT oRAT DI |

Ram & co. purchased Machinery from Mona & Co. for Rs.
4,00,000. A sum of Rs. 1,75,000 was paid by the means of a
bankdraft and for the balance, Ram & co. issued equity shares of
Rs. 10 each. Journalise the above transactions in the books of the
company.

X Ltd. 7 URI% 100 w0 dTel 100, 6 Uferd org=ll &I e UAH 100
el FHar e H uRafdd wxe fdhar| e ufderd skodE 10 wfwrd
W W eeH § e fo wwar ol @ 25 ufderd Wi
Prffr fosar o | Swiad affa FEogst o1 X Ltd. @ geddt # e @
ford emavas Ser ufaftedt T |

X Ltd. redeemed 100, 6% debentures of Rs. 100 each by
converting them into equity shares of Rs. 100 each. The 6%
debentures were redeemable at 10% premium for which the equity
shares were issued at 25% premium. Pass necessary Journal
entries for the redemption of above mentioned debentures in the
books of X Ltd.

TR sl A SU—HHAT U Bl ITOET BIfSY —

Rs.
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38.

EASICIENUN IS
freer &1 anT

Total External Liabilities

Balance Sheet total

Current Liabilities

Other current Assets :-
Preliminary Expenses

fr=forRad faaxror & srucger A gRT uReme fhamslh & Aes Yarg &f
AUHET BT —

500000

1010000

100000

10000

Rs.

500000

1010000

100000

10000

Calculate the Debt-Equity Ratio from the following information :-

2018 2017
Rs. Rs.
AT T 110000 120000
IGR 50000 62000
SERBCAL 24000 42000
=1 80000 76000
PCESICIE 8000 4000
ER 26000 38000
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Compute cash flow from operating activities by Indirect method

from the following details :-

2018 2017

Rs. Rs.
Profit and Loss A/C 110000 120000
Debtors 50000 62000
Outstanding Rent 24000 42000
Goodwill 80000 76000
Prepaid Insurance 8000 4000
Creditors 26000 38000
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